970 Chapter 9 Infinite Series

96. Assume the interval is [~1, 1] Let x e [-1,1],
S = 6 + (= 2)7G) + 40 - 5 () e € (1)
SN = 76 + (1= 0)f(x) + (-1~ %)’ /"(d), de (-1, %).
So, 7(1) = f(-1) = 27(x) + 31 = %)’ "(c) - 301 + x)* /"(d)
27 = 1) = 7(-1) = 40 - 5 1€) + 40 + Y 1)
Because | f(x)| < 1and | /"(x)| < 1,
LG < SO ED]+ 30 - 2]+ 20+ 2@ s 1+ 1+ H1-2) + M1+ 2 =3+ 22 < 4.
So, | f(x)| < 2. '
Note: Let f(x) = 4(x + 1)* - 1. Then | /'(x)| < 1| /"(x)| = 1and (1) = 2.

Review Exercises for Chapter 9

1- a" = 5” R . 4‘ an = zn.
a = 51 =95 n2-f]-)5 ]
a, =5 =125 ==
= &3 _
. a3—5—125 _22)—4
a, = 5* = 625 2 37577
as = 5° = 3125 .= 23) 3
‘ ' T 3+5 4
2.a,,==2 _2(4)_8
! “Taes T
3 25
a=3=? “5=5£)5=1
I |
, =3 =2
22 5. a,=4+2:65467,..
) "
T2 Matches (a).
ot '
“TH T3 6. a”=4-§:3.5,3,...
Qaz = 3_5 = ﬂ
537 W Matches (c).
5 = () 7. a, = 10(03)"7': 10,3, ...
‘ . Maitches (d).
1y - _1
4 = (_?) I : Jyi-l
o - (_%)2 1 8 a, = 6-2) :6-4,..
5 Matches (b).
1 _ 1
N
—(—1V _ 1
a4 = ('T) = 356
1y - __L
a = ("T) 1024
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9. g

10.

11

12.

13.

14.

15

16.

_n+2
n

n

The sequence seems to converge to 5.

. . Sn+2
lim g, = lim ——

n—ow n—»00 n

lim (5 + —Z-J =35
n—->o n

.
“®evenane

. hw
a, = Sin T
The sequence seems to diverge (oscillates).

sin %: 1,0,-1,0,1,0,...

lim(é) +5|=0+5=5

n—>0]

Converges

n—>00)

1im[3——2—2-—]=3—0=3
n

Converges

o+ 1

lim
n—wo p

f
8

Diverges

. 1
am e

Converges

Diverges

Review Exercises for Chapter 9 971

fim (T A

1
lim —mee——er = 0
n>ofn+1+/n

17. lim (Vo +1-/n)

n—»wo

i}

Converges

. sin/n
m ————— =

18. i 0
n—>w \/;
Converges
19. a, =5n-2
20. a, = n* -6
21 a, = !
nl+ 1
2. g, = 5
n +1
23. (a) A4, = 8000(1 + g‘(‘)_S) , n=123 .
1
A = 8000(1 + 9—‘(‘)2) = $8100.00
4, = $8201.25
4, = $8303.77
A, = $8407.56
As = $8512.66
4s = $8619.07
A4, = $8726.80
Az = $8835.89

(b) Ay, = $13,148.96

24. (a) ¥, = 1750000.70)", n=1,2,...
(b) Vs = 175000(0.70)° ~ $29,412.25
25. S, =3
S, =3+3=2_145
2 2
S3=3+-3-+1=ll=55
2 2
S4=3+2+1+-3-=§=6.25
2 4 4
Ss=3+§-+1+3+§=m=6.85
2 45 20
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972 Chapter 9  Infinite Series

26. S, = o -0.5
2
S, =—-]-+-1- . -0.25
2 4
§otel L3 g
2 4 8
S, =—l+—l-—-l—+—]-=——5-= -0.3125
2 4 8 16 16
[P R S BN | R P YEY Y
2 4 8 16 32 32
27. (a)
n 5 10 15 20 25
S, | 13.2 | 113.3 |'873.8 | 6648.5 | 50,500.3
The series diverges (geometric o= % > l). ’
(b) 120 S
L]
[ ]
L J
offeonat? : 12
10
28. (a)
n 5 10 15 20 25
S, | 0.3917 | 0.3228 | 0.3627 | 0.3344 | 0.3564
The series converges by the Alternating Series Test.
(b)y
‘. e o o
¢« ® ° [ B ]
4] 12
o
29. (a) g
n 5 10 15 20 25
S, | 0.4597 { 0.4597 | 0.4597 | 0.4597 | 0.4597
The series converges by the Alternating Series Test.
®) |
®ensvssooce
Q 12
30. ) '
@ Ts 10 15 20 |25
S, | 0.8333 0‘9091 0.9375 | 0.9524 | 0.9615
The series converges, by the Limit Comparison Test with le
n
(b)

Y XY
°®
.
L]
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Review Exercises for Chapter 9 973

. = (2Y 1 5 .
31 - === (G tric serie
Z (5) T (2/5) 3 (Geome ries)

32 Z 3n+2 =9 i [i)" _ 9 —1—
n=0 7 n=0 7 - (3/7)
=9. 7 = 83 (Geometric series)
4 4
& n 1 6 10 8 10 11
., = ) 0_\ e — _.—=---=5_5
3. Y.[(06)" + (03) Y] - 206(06) +ZOS(08) OO + (08— =& T4 2 = 2

n=l n=0

z[(J(—;(—JZUZ(J .
1 ; %)+(%_%j+...J=3—1=

35. (2) 009 = 0.09 + 0.0009 + 0.000009 + - = 0.09(1 + 0.01 + 0.0001 + -+ = 3" (0.09)(0.01)"

[l
I
N
S~
)
~
|
—
—
|
O
N
N\
]
I

n=0
(b) 0.09 = 009 _ 1
1-001 11
36. (a) 0.64 = 0.64 + 0.0064 + 0.000064 + --- = 0.64(1 + 0.01 + 0.0001 + --) = 0.642 (0.01)"
n=0
(b) 064 = 064 _ 64
1-001 99
37. Diverges. Geometric series with @ = 1and &
43. Z
|r|=1.67 > 1. 6,, +1
S 2 , -12
38. Converges. Geometric series with a = Iand Let f(x) = P S(x) = ——— < Ofor x 2 1
|| = 0.36] < 1. *+ 1 (6x +1)
JSis positive, continuous, and decreasing for x > 1.
39. Diverges. nth-Term Test. lim a, # 0. ) o o
J'w dx = I:— In(6x + 1)| ,= oo, diverges.
. T 6x+1 3 A :
40. Diverges. nth-Term Test, lim a, = 2.
n=w So, the series diverges by Theorem 9.10.
4]. Dl = 8 20 1
D, = 0.7(8) + 0.7(8) = 16(0.7) 4. Z =2
‘ 2 " Divergent p-series, p = = < 1
D = 8 +16(0.7) + 16(0.7)" + - + 16(0.7)" + --- 4
n 6 ]
= -8+ ;;16 0.7)" = -8 Ay 455 meters 4. Z. 5/2 isa p-series with p = 3 > 1.
42. (See Exercise 84 in Section 9.2) So, the series converges.
A =

-5

12(10) .
- (i) 1+ 22 - < sinm
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974 Chapter 9 Infinite Series

S
=)
1 MS

L
15"

Let f(x) = = f'(x) = =(In 5)5* < Ofor x 2 1.

fis positive, continuous, and decreasing for x > 1.

oo

j‘w -l-dx _ -1 _ 1
15 (In 5)5° SIns

So, the series converges by Theorem 9.10.
(1 1 < 1 =
47. e D R I
n=1‘(n2 n) Z ? En

Because the second series is a divergent p-series while
the first series is a convergcnt p-series, the difference
diverges.

S
&
M
s

Let /() = mﬁﬂ) S-EE <o

X

s positive, continuous, and decreasing for x > 1.

b
1im["“3" - —13-] —04-=
bl 3x 9x° |, 9

So, the series converges by Theorem 9.10.

= 1
49. ; Tl
1 1
In-1" Tn
Therefore, the series diverges by comparison with the
divergent p-series

ST Liw

n=2

® -4
L x*Inxdx =

O |-

50.
Z\/n +3n

n/\/n +3n n?

lim = lim ————= =1
n—o 1/\/_ w\/n3 + 3n

By a limit comparison test with the divergent p-series
00
1 s
Y 7 the series diverges.

n=1
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51.

52

53.

54,

55.

56.

i 1
n=1v n3 + 2n
l/\/n + 2n ni?

fim (v = lim =1

nson/1® + 21
By a limit comparison test with the convergent p-series

- |

E —=, the series converges.
e

n=

i n+1
Sn(n+2)

(n+1)/n(n+2) im 2L 2
n—»w ]/n ‘ n—)mn +2

. . Lo 1 .
By a limit comparison test with Z —, the series

n=l n
diverges.
i 5. (2n - ])
5y, 6 “(2n)
. _1.3.5...(2n—1)=(3_§ 2n—1) L
" 2-4.6--(2n) 2 4 2n-2)2n 2n
Because ZE]_ = —Z diverges (harmonic series), so

n=t 1

does the original series.

Because Y L converges, Y. 1
n=1 3" n=1 -5

Limit Comparison Test.

converges by the

converges by the Alternating Series Test.

§ n’

1 1 1

_— d = —_— — .
o = 0and 4, _ (n+l)S SE T

f:—

converges by the Alternating Series

iFW@TD

= Qand if

Test. lim 3
+1

n—o @

1) = 2L ) =

x* +1

—(x2 + 2x - I)

(x2 + 1)2

are decreasing. So, a,,, < a,.

< 0 = terms




. Z( -

converges by the Alternating Series Test.

lim -Z—L = Oand if
-3

noo p

< 0 = terms are

s 3

ool n+1
N/ | '\/;
Qe = < = a,
n+2 n+1
lim Jn =0
no g+ 1

By the Alternating Series Test, the series converges.

59. Diverges by the nth-Term Test.
lim =120
n—wo p —

60. Converges by the Alternating Series Test.
3In(r + 1
o = n(n + 1) L3 o, lim 3lnn _ o
n+l1 n nso pn

61. lim 7 }n—_l)=]im(3i:_l =£>]
oo \\2n+35) ~noel2n+5) 2

‘ Divergeé by Root Test.

5. (2n-1)

6 Z_: -8-(3n - 1)

|1 3.-@n-1)2n+1) 2-5-(r-1)

Review Exercises for Chapter 9 975

n
62. lim"(—i‘-’i—) =Iim(4—". =4
oo \\Tn = 1) " mme\Tn—1) 7

Converges by Root Test.

N
63. 272
n=1¢€
2
q . |ln+l €
lim [£L) = lim T
nsw| q, n—wo e(n+l) n

"2
tim | (n+1)

2
now| +2n+1n

1 ()
©) =0<1

By the Ratio Test, the series converges.

< H
64. 27
lim | %t | = i | (2D €
n-| g, n—mo e’”" n
. n+1
= lim =
n~»0 e

By the Ratio Test, the series diverges.

o 3%
. 2n+l n3 . 2”3
lim = lim P iy = lim —_—I
nool g, n—on (n + l) 2 - (Vl + 1)

By the Ratio Test, the series diverges.

2+l 2

lim
n-—>o00

a,

n»w|2 5--Gn-10)@r+2) 1-3.-(2n-1)
By the Ratio Test, the series converges.

67. (a) Ratio Test: lim |2 =

n—o a" n

ne p(3/5)

(b)
n |5 10 15 20 25

S, | 2.8752 | 3.6366 | 3.7377 | 3.7488 | 3.7499

fim (n + 1)(3/5)""" - lim (ﬂ_]_

T e3n+2 3

— < 1, converges

N~
/N
W | W
N
W | w
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976 : Chapter 9 - Infinite Series

(©

(d) The sum is approximately 3.75.

68. (a) The series converges by the Alternating Series Test.

(b) ,
n 5 10 15 20 25
S, | 0.0871 | 0.0669 | 0.0734 | 0.0702 | 0.0721
(c) o3 N
L]
... e®e
0 loa® 12

(d) The sum is approximately 0.0714.

69. [f(x)=e*,

S(x) = =27,

£1(x) = e,
£1x) = -8e,

Py(x)

70.  f(x) = cosmx,

JO) + 7(0)x + —=-

l—2x+2x2—g-x

£0) =
10 = -2
£10) = 4
ro=-
WiCE

(0) =

S'(x) = -xsinzx,  f(0)=0

S'(x) = ~7*cosnx, f "(O) = -

S(x) = 2Psinzx,  f(0) =0

f (4)(x) = nlcoszx, f (4)(0) =7

P(x) = £(0) + 7/(0)x + + L0,

1 72x?
2
71. f(x) =
76 = e
f"(x) - e—3.\

L0

3

4)
AR

),
21
wixt
24
f(0) =
70) = -3
f0)=9

M(x) = =27e 1(0) = 27

A = 70+ r@) + L0

=l—3x+2x2—2x
2 2
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Review Exercises for Chapter 9 977

72. f(x) = tanx

~
|

sec? x

7'

I

~
|
AN N &N aN

]
N/ N—— N S’
[
|
N

=

4
/T‘\ﬁ‘

2 sec? x tan x

/() = 4sec? x tan® x + 2sec’ x

R = 1[-Z)+ f(%)( ' ok Q( oR "'3_4)( 4
R A R A

N
=
+

73. f(x) = cosx = (_1Y'(x = 2)'
6 7 §ENE=2)
lf("”)(x)' < 1forall x and all n. o (n+1)
e ' . . _l)n+|(x _ 2)n+l (n + 1)2
| (@) x| (0735 lim [ 2241 = fim ( o ~
RO )= ey <0 e T s IR S )
By trial and error, n = 5. (3 terms) - |x - 2|
R =1
74, f(x) = e, fU*) = ¢ Center: 2

Because the series converges when x = 1and when

Maximum on [-0.25, 0]is e° = I.
x = 3, the interval of convergence is [l, 3].

< 7N (2) 1 (-0.25)"

|R,,| < 0.001 :
n+ 1) n+ 1) © 3y - 2)"
CEN Y 5§26
By trial and error, n = 3. n=l n
n+l _ n+l
75 = " lim ﬁﬂ = lim 3 (x 2) ) - n _
3 ngo E noxl Yy, n—® n+1 3 (X _ 2)
e . = 3|x - 2|
Geometric series which converges only if |x/IO[ < lor :
-10 < x < 10. R=1
3
6. i (Sx)" Center: 2
n=0 . .
. ) . . Because the series converges at 3 and diverges at z, the
Geometric series which converges only if s 3 3
Lor-l L :
|5X| <I= |X| STy <x<y interval of convergence is E, —;—J
79. Y ni(x - 2)"
n=0
n+l
fim | Bat| = g | D =27
x|y, n—swx I’I!(.X - 2)"

which implies that the series converges only at the center
x = 2.
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978 Chapter 9 Infinite Series

80. %(x ;"2)” = i(x 3 2)»

n=0

Geometric series which converges only if

=211 or O<x<4
81. (@ f(x)= i (356-) ,(-5,5)  (Geometric)
n=0

SRR R LINED

52

”=on+1

n+ l
) Z ( 1) —_— converges

a0 n+1

|
u-lul

82. (a) f(x) ZM (3 5)

i( ) i (G- 4) = 2 () , diverges

n ( n+l

i (—l)"+1 ( ;4) =y ,  converges

®) () = 2(—1)"*‘ (- 4", (3.9)

00

@ 16)= 5 e —1)(x—4)"",(3,5)

4)n+ 1

@ [f)ax= z -1 ( R
- n+1 (3 4)"+’ n+l 5 4
;( l) n(n + ]) and z (— _+l)’ both converge
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Review Exercises for Chapter 9 979

2 —l) (2n)x2”" _ (-0)"'(@2n + 2)x2"!

A Zo 4 [(n + )T

e "H(Zn +2)(2n + 1)x*"

"Z:(:) 4 (n + 1)!]

(=1)"'(2n + 2)(2n + 1)x>"+2 o D" 2n 4 2)en y
[+ )] a0 4 [(n + )] ()

@A ) C)@n D) }_

I [+ 0] 4 [(n+ )] 4"(;1!)2

()@n+ Yenr141) e }.M

4n+l[(n +1 ] ( )

-("l)"+l4(”+ l) + (-1 1 }.2”2
4[] ()

w -(_l)n+|| s ,,; ez
Z Yy ( l) 4"(n!)2:|’ =0

2+ x) + xty =

1M

]
Ms

3
I
=]

]
[M]s

3
1
o

I
Ms

=
1l
=

o] 4°(n)
-5
- SOIET . S OG s B
o {2yl )
e
Y431 + 3y = 2(—3)n+l(§f+r?n2¥21;!+ D | °°0 (—l)"”;::f((jn:])!z)xz“z . g(-n)";:xzn
) g(_l)nuy;lfi'n + 2)x i l)n+123”n’:!2 2+ . g(—]);:: £2n
- STy 4 T
= Z(;Q—;%;J‘l(—zn) + 2}(_1_)”23%2:_
_ 2( l)m3n+1 S Z 2”1)](1“1 o %
= i( ) > 2"[-—2n +2n] =0
=
2 __ 23 _ _a w 3 __32 2 a
3-x 1-(B) - 2+x 1+(x2) 1-(=x/2) 1-r
LG i) - 55
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87.

88.

89.

95.

96.

Chapter 9 [nfinite Series

6 6 = 2 = a n+l )
1_x 3 (x_,)']_(x_lj -7 90. lnx-z;( T2, 0<x<2
3 n=
' n+ 6/5)
- = (x—1)" )™
_3 2[3( 1) 2 (x3" 1) ( ) ”2( ) ( ]
n=0 n=0 el
Interval of convergence: Z]( )" o ~ 01823
x -1 <I=|x-1<3=(~-24)
91. e‘:ZfT, ~0 < X < 00
1~ 13 a n=0 1 .
3-2c | _(2)) 1-r T < V) R S P
! (3) ‘ ¢ 2;, . ,,goz"n! ‘
= 1 2x . 1 & 2x ¥ o :
B Z;‘, E(Tj - EZ [T) 92, e' = x_’ ~0 < X < ©
n= n=0 o] n!
Interval of convergence: : n
oL 2/3) o on
3 33 s 2 3 = 1.9477
Hlispul<asl<ls (_5,5) 25 "X
= n X
k) 93. cosx = —, -0 < X<®
Inx=Y(- 1)"*'(x Y ., 0<x<2 * Z;,( ) (2n)'
n=| B
2 x . » 2.."
x cos|— | = —1) ———— = 0.7859
( ) Z 1)n+l[(5/4) ] Z( l)ll+| ~ 0.2231 (3) "2:(:)( ) 32"(271)!
n=l n=|
04 . 0 l" X2"+]
. Slnx—lg(—')(zrl—-’-lj? -0 < x¥ <
1 z n 1
in—| = -1) ———— = 0.3272
sm(}) ,,Z(:,( ) 32””(2n +1)!
S(x) = sinx
S(x) = cosx
S"(x) = -sin x
S"(x) = —cos x, -+
i =y (")(x)[x - (372‘/4)]”
sin(x) = I;) -
_N2 ﬁ(,, _ 3_,,) _ ﬁ(x : éz)z _ V25 1Yy — Gay)]"
2 2 4 2.2 4 2 = n!
S(x) = cos x '
S'(x) = —sin x
S"(x) = —cos x
S"(x) = sinx
o 0 4 41" P 2 3 4
cos x = Zf (il )[x+(”/ )] =£+£(x+£)— \/i(x+£) - \/E(x+£J + ﬁ(x+£] +
n=0 n! 2 2 4 2.2 4 2.3 4 2-4 4

1 [:»(lr+l)1/z[x + (”/4)]"+|

—il+

(+3)

e
2 (n+1)

n=l
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Review Exercises for Chapter 9 981

"

97. 3* = (e'"(a)) = ¢*") and because e* = Z X , you have
n!

n=0

x2[1; 3 , Xn 3 , Xm 3]’

3-"=Z(x'"3) =1+xhn3+ 3 .

98.  f(x) = csc(x)
S'(x) = —csc(x) cot(x)
(%) = esc®(x) + cse(x) cot?(x)
S"(x) = =5csc®(x) cot(x) - csc(x) cot(x)
F9(x) = 5csc(x) + 15 esc’(x) cot?(x) + esc(x) cot*(x)

NG ER ) %(x _ g)’ N z(x _ 1]4 ..

cse(x) = Z

Z n! 2) A 2
9. f(x) =~

X

S = "%

ORE

=
2 O (x + 1) —nl(x +1 =

_Jl;=’§°f(l(! ) ,,;, (n! ) _ §x+l ,—2<x<0

100. f(x) = Vx = £
S = 55

- 4y
ro- Qe
o= R

\/;zif(")(4)(.3'c—4)" =2+(x—4)_(x-4)2+1-3(x—4)’_1-3-5(x—4)“.+

e 22 2°2 2831 2t14
(x - 4) 2 (=113 5. (2n - 3)(x - 4)'
g 23"_]}‘1!
- - 3
1oL (14 x) =tk HES ')x o M ')g‘ 2%,
( H),,s et (1/5)(—4/5)x 1/5(-4/5)(—9/5)x3
57 2! 3!
. 2 . . 3 I7+] . . e — n
PR KT T o] S MCILIC S0 R O SRR I
5 521 5%31 four 5" 5 25 125
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102 Kx)=(1+2)°
H(x) = =31+ %)™
H'(x) = 12(1 + 2)°°
H"(x) = —60(1 + x)™°
H9(x) = 360(1 + x)”
WO (x) = -2520(1 + x)*
3 : — o0
1 3=l—-3x+12x 60x +360x 2520x° Z(l) n+2 Z l)(n+2)(n+l)
(1 + x) 23 a 51 ]
103. () f(x) =e*  f(0) =1
f(x) = 2> f(0) =2
f"(x) - 4e2x flv(o) = 4
flll(x) - 8e2x f’"(o) - 8
" dy2 3
P)=1+2x+ 2 08 e 4 A0
2 3 3
. o o . © (2x)”
b = E);!, e = ,,Z=:‘)_n!
P(x) = 1+ 2x + 2x* + %x’
. 3 x2 . x2
(c) e —[l+x+—2—!+-~)(l+x+—i!—f---)
P(x) =1+ 2x+2x* + §x3
104. (a) ~ f(x) = sin2x f(0)=0
(%) = 2cos 2x f©=2
S'(x) = -4sin2x  f"(0) =0
S(x) = -8cos2x  f"(0) = —
fO0%) =16sin2x  90) = 0
IO(x) = 32c0s2x  79(0) = 32
fO(x) = -64sin2x  fO0) = 0
SO(x) = ~128cos2x  £(0) = -128
2 3 4 5 6 7
Sil'lzx=0"‘23{,'4'-0—?——8i &x—— 32x gx———lzsx —2x——x3 ixS__s._xJ
2! 3 4! S 6! T 15 315
o 7 2n+1
(b) sinx = ( )'x
: = (2n + 1)
© 2n+1 3 5 7
sin 2x = z 1) (2) = 2x — (2x) + () _(2%)
= (n+ 1) 3! 51 7
3 5 7
SP GA2  S  S NE I
6 120 5040 15 315
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Problem Solving for Chapter 9 983

(c) sin 2x = 2sinx cos x

2 X x7 x>  x* %8
X = =4 — dofl - e 2
6 120 5040 ]( 2 24 720 )

il
[\

[ x* i X XX X X X x7
=dx+|-—- || = — || m——— — — — +
L 2 6 24 12 120 720 144 240 5040
3 5 7
Y U -~ .. et b8
3 15 315 3 15 315
05. ¢ ix" l+x+x2+x3+ & (1) X
. = e TR TERLRET 108. cosx = —r
n=0 nl 2! 3 ,;, (2n)!
& (6) (6x)° ) (6)6)3 2
e6”=z( =1+ 6x+ + (3x)
: cos 3x =
“~ Ty ! 3! . Zﬁ( 1y )
=1+ 6x+ 18x° + 36x° + ... 9 275
S
! ® _ -
106. lnx=2(-1)”‘(x——)—,0<xs2
prr i n * X X X
( ) 109. arctanx=x——3-+—5——7+?—
-1 X - .
In(x - 1) = Z( )" arctan x TR SR L
n=1 ._._.__=\/;E.__.+_.__.___+___._...
" Jx 35 7 9
& n-1 (x - 2) '
=Yy ()" —1<x<3 . . arctan x
= n lim —=—=0
x—0t \/;
» —l)" y2n+l By L’Hopital’s Rule,
107. sinx = (———
= (n+ ) 1
nel . arctan x o\ + X2 o 2x
2, (~1)" (2) "+ lim —=—— = lim >—— = lim 5 =
sin 2x = Z —— x—0% \/; x—0t 1 x=0t] + x
Z  (2n+1) NP
4 4
=2x - =X+ —x° - 3 5 2. 847
3 15 10, arcsinx = x + —— 4+ 3% -+ 1-3-5x ..
2-3 2-4-5 2-4-6-7
arcsin x x> 1-3x*  1.3.5x8
— =1+ + + +
X 2-3 2:4.5 2-4-6-7
[im&TeSin X _ |
x>0 X
By L’Hépital’s Rule,
L E lim[ ! I
x>0 X x>0 ’

Problem Solving for Chapter 9

o o) 48 24 -

(b) 0, %, -i—, 1, etc.

n-

© limC, =1—zl[3] =1-1=0
ol "___03 3
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